
Music 500—Assignment #3

 

Write the specified progressions, in each case connecting the two chords with a secondary
Dominant over a linear bass. (Passing bass-lines work best; incomplete neighbour or common-
tone basses can be used where passing lines are not possible.) An asterisk beneath an exercise
indicates that more than one linear bass is possible; in such cases, you should repeat the
exercise as many times as is necessary to show all linear possibilites.
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
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r. s.

 t.
 
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